- ’ ' 1 .

ST.GEORGE’S SCHOOL. ALAKNANDA
MIDTERM EXAMINATION(2017-2018)
SUBJECT-PHYSICS
CLASS-XI
DATE: 517 M:M :70
TIME :3 HRS NO OF PAGES :3

Instructions:

Q1 to Q4 carries one mark each

Q2 to Q13 carries two marks each
(214 to Q21 carries three marks each
(22 is of four marks

Q23 to Q26 carries five marks each

QL Give an example of a constant which has a unit.
Q2. Figure shows the orientation of two vectors u a8 ¥ in the XY plane. Write about a . b . P

, 4. Whether they are positive or negative. ‘a A~
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Q3. Write the relationship between angle of inclinatigi and the angle of repose.
Q4. Two inclined frictionless tracks , one gradual and e other steep meet at A from where
two stones are allowed to slide down from rest , one on &8l track. What will happen to speed for
both the stones and which one will reach earlier. Justify A
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Qs. A cricket ball of mass 150g moving with a speed of 126km/hr hits the middle of the bat,
held firmly at its position by the batsman. The ball mowves straight back to the bowler after being
hit by the batsman. Collision is elastic and the time the twe remain in contact is 0.001s.Find the
force the batsman had to apply to hold the bat firmly at its place.
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_ What is the tension in the sring ? DO
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QL (rain rounds
of the train is 10°kg. What !
engine or the cails? Whats
A bullet of mass 0.012ke

Qi9.
and instantly comes 10

taken fro
9.35¢cal , how much is the net work
Q22. Raju saw her gtandmother trying o
carpel. Rajt helped his jmother |
3) Whatare the va isplayed by Raju
by Name the scient nvolved
c) Give one such mor

in Raju’s

e example
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nd the distance X is L= o TN "
us acceleration in terms of instantane ous vehos

(23. a ) The relation between ta

are constants. Express the instantaneo

a) ShmHt_h'at h 'muﬁsa&'mjcmm for ¥

e € __'": on for orbital velocity of a satellite. Prove w=j§?‘

ion for the efficiency of a refrigerator




